MARKING SCHEME BSEH PRACTICE PAPER 4,10™ MATHS(BASIC)

MARCH 2024,(ENGLISH MEDIUM)

Expected solutions

mar
ks

Section-A

(c) a’b?

(@)13

(c)v4

(b) 2

(€)2x%-7x+6=0

(a)113

(b)vI3

(b) 2cm

(@)3cm

10

4cm

11

secant

12

True

13

(d)tan?

14

(b) 45°

15

(b)24m

16

17

18

19

(d) Assertion(A) is false but Reason(R) is true.

20

(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion(A).

SECTION-B

21.

px+t3y—(p—3)=0 ........ (1)
12x+py—p=0 ........ (1)

For infinitely many solution
A_bh_a

ag by ¢

1/2
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ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

From II and III
3_-(-3

3=p—3 p=6
So, p=6

1/2

1/2

1/2

OR
21.

2x+3y=12............ (i1)
Substituting the value of x from (i) into (ii),we get
2(2y-1)+3y=12

.................................................................................................................

sustituting y=2 in eq (1),we get

x=2(2)-1 x=3
Thus, x=3,y=2 is the required solution.

1/2

1/2

1/2

1/2

22.

k 1
A C B
(-3, 10) (-1, 6) (6,8)

Let the ratio in which the line segment joining A(- 3, 10) and B(6, - 8) be
divided by point C(- 1, 6) be k : 1.
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By Section formula, , C(x, y) =(

]
-+ + 1/2
6 —3 —8 +10
-1,6) =
( s ) +1 ] +1 )
1/2
m=k,n=
Therefore,
6 —3
1=
+1 1/2
-k-1=6k-3
Tk =2
k=2/7 1/2
Hence, the point C divides line segment AB in the ratio 2 : 7.
23.
1/2
In ARPQ and ARTS,
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RPQ = RTS (given)

...........................................................................................................

1/2

PRQ= TRS (common angle) 1/2
ThuS,ARPQ ..... ARTS(AACHtenon) .......................................................... )
24 |sin(A-B)=1/2 Sin(A-B)=sin (30°) A-B=30°...(1) 0
A
OnAddngq(l)and(z)’wegetZA:%O ...... A:450 ............................. )
Mo, Pt e e o Ain B we gt 4B s B—15 | 1

Hence, A =45° and B = 15°

OR
24
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Let AABC be a right-angled triangle such that tan A = 1/3
tan A = side opposite to A / side adjacentto A = BC/AB = 1/7/3

Let BC =k and AB = V3 k, where k is a positive integer.

By applying Pythagoras theorem in AABC, we have
AC?=AB?+BC?

= (V3 k) + (k)

=3k% + k2

= 4Kk?

AC =2k

..................................................................................................................

Therefore, sin A = side opposite to A / hypotenuse = BC/AC =1/2
cos A = side adjacent to A / hypotenuse = AB/AC = 3/2
sin C = side opposite to  C / hypotenuse = AB/AC = V3/2

cos C =side adjacentto C / hypotenuse = BC/AC = 1/2

By substituting the values of the trigonometric functions in the above
equation we get,

sin A cos C + cos A sin C = (1/2)(1/2) + (V3/2)(3/2)
=1/4 +3/4

=(1+3)/4

= 4/4

=1

1/2

1/2

1/2

1/2
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25. | Area swept by the minute hand in 60 minutes = 7r?
Area swept by minute hand in 1 minute = nr?/60
Thus, area swept by minute hand in 5 minutes = (1r?/60) x 5 = ar?/12 1/2
Length of the minute hand (r) = 14 cm
Therefore, the area swept by the minute hand in 5 minutes = 5/60 x nr> = 1/2
1/12 mr?
5 1/2
=1/12 x 22/7 x 14 x 14 cm
= 154/3 cm? 1/2
SECTION-C
26. | Prove that v/ is irrational.
Solution:
Let, if possible,\/§ be a rational no. 1/2
V3 = —, where p and q are co-prime integers and q# O. 1/2
2
3=
PP=3 @ e (1)
1/2

3 divides p> 3 divides p also.
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D2 = 9P, (iii) 1/2
From (i) and (iii)
3> =9m?
q’=3m? 1/2
3 divides > 3 divides q also.
o [lie ) § VOO USRS (1v)
From (i) and (iv) , p and q have 3 as common factor.
p and q are not co-prime. 1/2
Hence our supposition is wrong.
V3 is an irrational number.
27. | Since one zero is 8 and the product of two zeroes is -56,the second zero is
—56
N 1
so , a quadratic polynomial is x?- {8+(-7)}x +8(-7) 1
= X*+x-56 !
28. | Let unit's digit be y and ten's digit be x.Then number is 10x+y and
number obtained on reversing the digits is 12
10y+x
given x +y =9....... (1)
1/2
and 9(10x+y) =2(10y+x)
90x+9y=20y+2x
88x-11y=0 8x-y=0............ (ii) 1/2
Adding (1) and (i1),we get
x+y +8x-y=9+0
9%=9 x=1 1/2
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..................................................................................................................

Hence, the number is 18.

1/2

1/2

OR
28

Let the speed of car at A be x km/h
and the speed of car at B be y km/h

when the car travel in same direction Relative Speed is x—y
Dist=100km
t=5 hours

Distance =Speed x Time

..............................................................................................................

when car travel in opp direction Relative Speed is x+y
Distance =100km

t=1 hours

Distance =Speed X

.......................................................................................................................

...................................................................................................................

Solving (1) & (i1)
x—y=20
x+y=100

2x=120

x=60km/h

From equation(1), y=60—20
y=40km/h

Speed of the car at A =60 km/h
Speed of the car at B=40 km/h

1/2

1/2

1/2

1/2

1/2

1/2

29.

Let the point be (0, y)

1/2
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So,/(6—0)2+(5— )2={/(—4-0)2+(3— )>

1/2
On squaring both sides , we get
36+25+y*—10y=16+9+y>—6y 1/2
61—-10y=25—-6y
10y—6y=61-25 1/2
4y=36
So,y=9 1/2
So, point = (0, 9) 12
30. | We use the following trigonometric identities:
sec’0=tan’0+1 1/2
and cosec’0=cot*0+1 1/2
On adding these, we get:sec’0+cosec’0=tan’0+cot?0+2 1/2
sec’0+cosec’® = tan’0+cot’H+2tandcotd 1/2
sec’f+cosec?d = (tanB+coth)? 12
Vsec2 @ + cosec? B =/ (tanB + cotd)? -

sec20+cosec?0=tan0+cotd
Hence Proved.

OR
30.

CcOSA—sinA+1

LH.S. =
CosA+sinA—1
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cosA—sinA+1

_ sin A
cosA+sinA—1

SinA
(Divide each term of Numerator and Denomenator by sin A)

cotA—1+cosecA

cotA+1—cosecA

......................................................................................................................

(cotA+ cosecA)—1

~ (cotA—cosecA)+1

(cotA+cosecA)—( cosecZ A—cotZ A)
(cotA—cosecA+1)

( cosec’A—cot’A=1 )

...................................................................................................................

__ (cosecA+cotA)(1—cosecA+cotA)
(cotA—cosecA+1)

= cosecA+cotA=R.H.S.

1/2

1/2
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31.

A
[
- E
4 B 3
g u E
& 3/ -
r == ,
Al * e ’
1 1 ]
B C
Boy's second Boy's first
position position
In AAPR
tan R = AP/PR
tan 30° = 28.5/PR
13 =28.5/PR

PR =28.5xV3m

...................................................................................................................

In AAPQ
tan Q = AP/PQ
tan 60° = 28.5/PQ
V3 =28.5/PQ

PQ=28.5/V3m

................................................................................................................

PR - PQ = 28.5V3 - 28.5/\/3

1/2

1/2

1/2

1/2
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=28.5(\3 - 11\3)
=28.5((3 - H3)

=28.5 (23)

..............................................................................................................

= (57 x \3)/(V3 x \3)

= (5773)/3

=193 m

The distance walked by the boy towards the building is 19V3 m.

1/2

1/2

SECTION-D

32.

Given, a4 + ag =24
(a+3d)+(at+7d)=24

2a+10d =24

Also, ag + a10 =44
(a+5d)+(a+9d)=44

2a+ 14d = 44
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On subtracting equation (1) from (2), we obtain
(a+7d)-(a+5d)=22-12

a+t7d-a-5d=10

By substituting the value of d = 5 in equation (1), we obtain
a+5d=12
at+t5x5=12

at+25=12

The first three terms are a, (a + d) and (a + 2d)

Substituting the values of a and d
we get-13,(-13+5)and (- 13 +2 x 5) 1

The first three terms of this A.P. are - 13, - 8, and - 3.

I'I‘
A AN
ke f’f \IIII"-. x“\
\\\\ AN V- 5
S \ S
B — 1‘-(-{31_ i .

.
i R

In AABC and APQR

AB/PQ =BC/QR = AD/PM [given] 1/2
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AD and PM are median of AABC and APQR respectively
BD/QM = (BC/2)/(QR/2) = BC/QR
Now, in AABD and APQM

AB/PQ = BD/QM = AD/PM

.......................................................................................................

Now, in AABC and APQR
AB/PQ = BC/QR [given in the statement]

ABC= PQR[ AABD APQM]

.................................................................................................................

AABC APQR [SAS criterion]

1/2

34.

28 cm

-
\

Diameter of the Gulab jamun, d =2.8 cm

Scm

Radius of cylindrical part = radius of hemispherical part r = d/2 =2.8/2 cm
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=14 cm
Length of cylindrical part, h=5cm-2x 1.4cm=2.2 cm

..........................................................................................................

Volume of one Gulab jamun = volume of cylindrical part + 2 % volume of
the hemispherical parts

.......................................................................................................................

= nr?h + 2 x 2/3 e
= r2h + 4/3 7

=nr? (h + 41/3)

=22/7x14cmx 1.4cm x (2.2cm+ (4/3) X 1.4 cm)

=[22/7%x1.4cm x 1.4 cm X% (12.2/3 cm)]

..................................................................................................................

Volume of 45 Gulab jamuns = 45 % volume of one Gulab jamun
=45 x 75.152/3 ecm?

=15x%x75.152 cm?

....................................................................................................................

..................................................................................................................

Volume of sugar syrup in 45 Gulab jamuns = 30% of volume of 45 Gulab
jamun

=30/100 x 1127.28 cm?>

.................................................................................................................

1/2

1/2

1/2

1/2

1/2

1/2

1/2
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=338.184 cm?

1/2
Thus, the volume of sugar syrup in 45 cylindrical shaped gulab jamuns is
338 cm?® (approximately).
OR
34
1/2
=2nr?
=(2x22/7%3.5/2x3.5/2cm?) 1/2
The height of the cone = Height of the top — Height (radius) of the
hemispherical part
1/2
=(5-3.5/2)cm=3.25cm
So, the slant height of the cone (I)=V 2+ 2= \/(32—5)2 + (3.25)2
=3.7cm( approx) !
Therefore, curved surface area of cone =murl 2

....................................................................................................................
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=(22/7x3.5/2x3.7)cm?

1/2
Total Surface area of the top = Curved surface area of hemisphere +
Curved surface area of cone 12
=(2%22/7%3.5/2%3.5/2)+(22/7%3.5/2%3.7)
11 1/2
=22/7%3.5/2 x (3.5+3.7) = - % 7.2
=39.6 cm?
1/2
35.
Class-Interval Frequency Cummulative
Frequency
0-10 5 5
10-20 X 5+x
20-30 20 25+x 1
30-40 15 40+x
40-50 y 40+x+y
50-60 5 45+x+y
45 + x +y =60 1/2
x+y=15...(i)
The median of the data is given as 28.5 which lies in interval 20 — 30.
1/2

Therefore, median class = 20 - 30
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n=60 (given) n/2 =30

Class size, h =10
Lower limit of median class, | = 20

Frequency of median class, f = 20

Putting x = 8 in equation (i)

1/2

1/2

1/2

1/2

1/2
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8+y=15

y=71
Hence, the values of x and y are 8 and 7 respectively. 1/2
OR
35.
Daily Class Mark | No. of - Xi-a fi uj
Expenditure | (x;) house-holds | % = h
(in %) (f)
100-150 125 4 -2 -8
150-200 175 5 -1 -5 3
200-250 225 =a 12 0 0
250-300 275 2 1 2
300-350 325 2 2 4
=25 fiui =7
1 1
B (1] B [1]
We know that, Class mark, x; = (Upper class limit + Lower class limit) / 2
Class size, h =50
1/2

Taking assumed mean, a = 225
From the table, we obtain

2fi=25

2fui=-7
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Mean, (x) =a + (Zfiu/2fi)) x h 1/2
=225+ (-7/25) x 50
1/2
=225-14 /
=211 12
Thus, the mean daily expenditure on food is X 211.
SECTION-E
(1) speed of stream= xkm/h
Speed of motor boat =20km/h .
spees of motor boat upstream = (20-x)km/h
() d= distance 1
ii)spee pv—
(i11) Time for upstream -Time for downstream = 1 hour
15 15 L 1
20 — 20+
300+ 15x -300+15x = 400- x> 1
x? +30x -400 =0
OR (iii) x? +30x -400 =0
(x+40)(x -10)=0 1
x=10 or x=-40 1
speed of current = 10 km/h
(1)Let,
AD=AF=zcm.
BD=BE=xcm.
CF=CE=ycm.
S0,
AB=z+x=12cm.
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BC=x+y=8cm.

CA=z+y=10cm.

adding all,
AB+BC+CA=12+8+10
z+x)+(x+y)+(z+y)=30
2(x ty+2z)=30

x+ty+z=15cm.

then,

(1)

x+y+z)-(x+y)=z 15-8=7cm=AD (Ans.1)

(i1)
xt+y+z)-(y+tz)=x 15-10=5cm=BD

(iii)
(x+y+2)-(z+x)=y 15-12=3cm=CF

now, given that,

Radius of circle = OD =4 cm.

therefore,Area of AOAB = =% x perpendicular height % Base

=%>< x :%x 4x12 =24 cm?

OR (ii1) Area AABC = Area AOAB + Area AOBC + Area AOCA

Area AABC =[(1/2) % radius x AB] + [(1/2) % radius XBC] + [(1/2) %
radius X CA]

Area AABC = (1/2) % radius X(AB + BC + CA)

Area AABC = (1/2) x 4 x 30

Area AABC =2 %X 30
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Area AABC = 60 cm?

38.

(1)Number of possible outcomes=>52

Number of favourable outcomes of getting a king of red colour=2
1

P(of getting a king of red colour) = 5% =

(i1) Number of possible outcomes=52

Number of favourable outcomes of getting a face card = 12
12 _ 3

P(of getting a face card) = P IRET

(i11)) Number of possible outcomes=52
Number of favourable outcomes of getting a jack of hearts =1

P(of getting a jack of hearts) = 5—12

OR (ii1) Number of possible outcomes=52
Number of favourable outcomes of getting a red face card =6

........................................................................................................................

P(of getting a red face card) = 5% ==
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MARKING SCHEME BSEH Practice PAPER 4,10™ 310l (3TR) ,
MARCH 2024(f8&Y #mes )

Q. Expected solutions marks
no.
Section-A
1 (c) a’b? 1
2 1 (a)13 !
3 (C)\/Z 1
4 4 1
(b) =
> | (€)2x?-7x+6=0 !
® |(a)113 1
7 | (bW13 1
8 | (b) 2cm 1
° |(a)3cm 1
10 | 4cm 1
1 e 1
12 P2 ) 1
13 1 (d)tan? 1
14 (b) 450 1
1> 1 (b)24m 1
16 g 2 1
Z cm
17 | 22cm 1
18 1 1
()
19| (d) 3f@RueT (A) TTerd &, Weg dF (R) FET & !
20| (a) 3fAHYT (A) 3R ak (R) = @@r g 3R a& (R), 1
ifPFUT (A) I TE TR FIAT R
SECTION-B
21. px+3y—(p—3)=0 ........ )]
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12x+py—p=0 ........ (1D
3ARTAT §T F 36 gl & fw

a_b_a 1/2
a by ¢
__E ..... e o
12 -
1 2
31T (1) IR () & -
P>=36 P*—36=0 p—=6
3T (2) A 3) &
1/2
3=p3 p=6
p=6
OR2L | 2w 91T AT x=2y-1......(I) &
2x+3y=12............ (ii)
()& x T AT (i) & @S W, g Aerar & 2
2(2y-1)+3y=12
4y—2+3y=12 1/2
7y=14 y=2 1/2
THIEROT (i) 7 y=2 @ gfaefa & w), g aa § 1/2

x=2(2)-1 x=3

39 YN, x=3,y=2 373fsc g &l
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22.

k 1
A 7 B
(-3, 10) (-1, 6) (6,8)

A 7 g C(- 1,6) ,A(- 3, 10) 3R B(6, - 8) T fAST arel
WTEs #T k:1 & Ul H ST FIAT Bl

fasreTeT g gan, C(x, y) =(

........................................................................................................

k=2/7

37T:, fdg CXW@s AB &1 2:7 % 3oqdra # faenfoia aear §
|

1/2

1/2

1/2

1/2
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23.

1/2
ARPQ 3iR ARTS H
RPQ= RTS (fear ) 1/2
PRQ= TRS (3HATASS hI0T) 1/2
37T ;, ARPQ ARTS (AA FHFIAT Haler) 12
24. sinfA-B)=1/2 Sin(A-B)=sin (30°) A-B=30°...(1) 1/2
cos(A+B)=1/2 cos(A+B)=cos(60°) A+B= 1/2
60° ..........(2)
AT (1) 3R (2) S8 W gH Holar &
2A=90° A =45° 1/2
3, A FT AT FHIROT2) H @A W), g7 Ao &
45°+ B =60° B=15° 1/2

Ad:;, A=45°and B=15°
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OR 24.

\ -

A B

AT AABC Ueh HHAIUT 38 § 08 tan A =113 §

tan A = Aésngaaim/ Aé:%imagm=BC/AB=
1/\3
AT BC=k 3R AB =3k, 5@l k Teh YellcHeh qUlieh &

.....................................................................................................

AABC # UISURIRYE YA & o] el W, §H 9Ied gl
e

AC? = AB* + BC*
= (B + (k)
=3k? + k?

= 4k

AC =2k

.............................................................................................

ST ,sin A= A & GFAW ¥ /FOT =BC/AC=1/2
cos A= AHI Heldel ST /0T = AB/AC =312
sinC= C& §FHE ol C/HUT = AB/AC=13/2

cos C= CdhI Heldel 3l /0T =BC/AC=1/2

1/2

1/2

1/2

Download from www.MsEducationTv.com




IRFT GHROT A FRIITATT FeAal & AT
gfaeaiia s W g7 e gidT &,

sin A cos C + cos A sin C = (1/2)(1/2) + (N3/2)(\3/2)

= 1/4 + 3/4

=(1+3)/4

= 4/4 1/2

=1

25.

fAete &1 g gant 60 fAse & a7 fhar aram aFhe = nr?
fAete &1 g anr | fAsie & a7 fhar arar &% = nr/60

37 :, [AeTe $r g3 e@rT 5 AeAe A aF fhar g n et =
(mr?/60) x 5 = nr?/12

..................................................................................................................

E@'ﬁﬁlﬂfﬁﬂé’ﬁm(r)=l4cm
,AeTe T g3 <arr 5 Ade & aF fahar I &% = 5/60
2 = 1/12 nr?

..................................................................................................................

= 154/3 cm?

1/2

1/2

1/2

1/2

Download from www.MsEducationTv.com




¥ug -7

26. | {7 NS, Ifg @919 8, V3uew AT g B "
\/3_= —,\_ﬂﬁp}ﬁT qw-mq\mﬁm%aﬂ? q% 0. 1/2
___________ e
3=
PP=3 @ e, (1)
3,p2 Ff fATald aRar & 3, p AT faaford a=xar & 1/2
HTAT P = 310, (ii) STgT m g Yuiieh §
PP=9mM2 e (iii) 1/2
(i) N (iii) &
3¢ = 9m?
q2: 3m2
3, Amfag aRar & 3, q & o Rnfog sar ¢ 1/2
(o [ulie ] 4 PO (1)
(i) 3R (iv) &, p 3R q FT 3HITASS IUTES 38|
p 3R q HE-3MTsT 18T B
3d: §ART YR I gl 1/2
V3 THh IIRAT &7 ¢l
| df U geae 8 § 3R & Yl T AUhd -56 B,
1

ST qET T =2 = -7 §
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HATAT SHIS &1 37 y & 3R GBS &l 3 x g dF TEAT
10x+y & 3R
3l &l 3elcd IR YIed HEAT =10y+x

1/2
fcarg x+y =9.... (i) "
3R 9(10x+y) =2(10y+x)

90x+9y=20y+2x 1/2
88x-11y=0 8x-y=0............ (i)
(i) 3R (ii) SSA W, A 9red gl &
x+ y +8x-y=9+0
9x=9 x=1 1/2
(i) & x F1 AT gAEARNT FA W, gH y=8 ured gier 2
37d: §Ear 18 gl 1/2

HAAT A W FR Fr I1Ta x ThAT 9fd T §
3R BW &R &1 a1fa y AT gfa ger &
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ST P Tk &Y feom & Tordt § ar e aifd x—y gl &
&I=100km
AT =5 hours

= afd < @&y

..................................................................................................................

o »R Auda Gem & wordh § ar amdet afy x+y el &
=100fhelTHTeT
AT =1 beT

= a1fa < AT

.......................................................................................................

..............................................................................................................

(1) 3R (i) T T T
x—y=20
x+y=100

2x=120
x=60km/h

THHRIOT(1) J,y=60—20
y=40km/h

A W &R $r afd = 60 fehel/eer
B @ &R &l a1fd =40 fehai/eer

1/2

1/2

1/2

1/2

1/2

1/2

29.

AT {9 (0,y) 8

1/2
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gafed, /(6 -0)2+(5— )2=/(—-4-02+(@B— )2 1/2
el R T A W, gH UITd g &
36+25+y*—10y=16+9+y*—6y 1/2
61-10y=25-6y 12
10y—6y=61-25
4y=36
y=9 1/2
3efrse fdg = (0, 9) 1/2
20 g7 fAafafEa Beufada adaf@eni #7 3vgis #va &
. sec?0=tan?0+1 1/2
3R cosec20=cot20+1 1/2
3%' g W E?EI' 9grcd glal %’:se029+coseczﬁ=tan29+cot29+2 1/2
sec?0+cosec?® = tanZ0-+cot20+2tanOcotd 1/2
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sec’0+cosec’d = (tanf+coth)?

...............................................................................................................

Vsec? @ + cosec? 0 = /(tan® + cotB)>2
sec20-+cosecf=tan0+cotd

TEr Ry e o |

1/2

1/2

OR 30.

COSA—sinA+1

L.H.S.= -
CosA+sinA—1

COSA—sinA+1

_cosAsJirs]iﬁA—l (3727 3R &Y ! sinA ¥ HRT el 0T )

sinA

cotA—1+cosecA

cotA+1—cosecA

..............................................................................................................

- (cotA+cosecA)—1  _ (cotA+cosecA)—(cosec? A—cot?A)

~ (cotA—cosecA)+1 (cotA—cosecA+1)
( coseczA—cot2A=1)

__ (cosecA+cotA)(1—cosecA+cotA)

a (cotA—cosecA+1)
= cosecA+cotA=R.H.S.

1/2

1/2
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31.

PR =28.5x V3 m

AAPQ H

tan Q = AP/PQ
tan 60° = 28.5/PQ
V3 =28.5/PQ

PQ=28.5/V3m

PR - PQ = 28.5V3 - 28.5/\3

A
[
- E
g B =
i u E
& 3/ -
r = ,
a7 i .
1 A ]
B C
Boy's second Bov's first
position position
AAPRH
tan R = AP/PR
tan 30° = 28.5/PR
1/43 = 28.5/PR

..............................................................................................................

1/2

1/2
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=28.5 (V3 - 1A3)
=28.5((3 - DA3)

=28.5 23)

...........................................................................................................

= (57 x \V3)/(\3 x \3)
= (57V3)/3

=193 m

oISeh GaNT SARA &I 3N el 5 g 19v3 #HieT §

1/2

1/2

yus-y

32.

as +ag= 24(1%\_5” %)
(a+3d)+ (a+7d) = 24

2a+10d =24

ae+310:44 (ﬁ_qT %—)
(a+5d)+(a+9d)=44

Da+ 14d = 44

AT (1) A (2) H g W, §H U 8IdT &

(a+7d)-(a+5d)=22-12
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at+t7d-a-5d=10

2d=10
1
d=5
FHIEROT (1) H d =5 & AT W W, §H I°d Fd &
at+5d=12
ats5S5x5=12
a+25=12
1
a=-13
Jgel il U¢ a,(a+d) 3R (a+2d) &
a3 doh AL A JATATAT P T, 8H - 13, (- 13+ 5) 3R
(- 13+2 x 5) 9T gidar &
SH AP. % Ugel dled Ug g - 13,-8, 3R - 3. 1
33. )
A -
~, ;_f’f“n:‘\_
N F A \'\‘
N \ W
R T e w—.
AABC 3R APQR &
1/2

AB/PQ = BC/QR = AD/PM [f&aT § ]

.................................................................................................

AD 3R PM &#HT: AABC 31 APQR &1 HATEI=T §
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BD/QM = (BC/2)/(QR/2) = BC/QR

..........................................................................................................

AABD 3R APQM &

1/2

1
AB/PQ = BD/QM = AD/PM
AABD  APQM [SSS EHFIAT FHaIC] 1
AABC 3iR APQR H
AB/PQ = BC/QR [T & ] !
ABC= PQR[ AABD APQM]
AABC  APQR [SAS THRIAT HhaleT] 1
34,
2.8¢cm ( \
Scm
AT STTHA HT I, d=2.8 AT
Sl d1eT T BFsar = 3R ger & Fsar r=d2 =
2.82 HT = 1.4 QA
1/2

SoTeIThR AT &1 oE1S, h=5 TAT - 2 x 1.4 AT = 2.2 T
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Ceh d;I’olIGI dldjtrl HI AT = deldThR HET I AT + 2 X

ITTMNATRR AT T 3T

.......................................................................................................

=nr*h + 2 x 2/3 nr?
= nr*h + 4/3 7

=qr? (h + 41/3)

..........................................................................................................

=22/7Tx14cmx1.4cm x (2.2cm+ (4/3) X 1.4 cm)

=[22/7 x 1.4 cm x 1.4 cm % (12.2/3 cm)]

45 d;I’oiIGI dlﬂd I ATTded = 45 x Ueh d;I’olIGI dldjd CARK IR RG]

=45 x 75.152/3 cm’

=15 x 75.152 cm®

........................................................................................................

............................................................................................................

45 eI ST H DT Hr AR ST AT = 45 AT ST
& I HT 30%

=30/100 x 1127.28 cm’>

................................................................................................................

=338.184 cm?
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$H R, 45 SoleAThR PR & el SAeT H dlell HT aATereir
$I AT 338 AT (STITHT) B
1/2
1/2
A I FAG = olcg AT FUTg - IEINAThR H9T H Fd1S
(A=)
1/2
=(5-3.5/2)cm=3.25cm
3, A A fAdd g )=V 2+ 2= \/(3—;’)2+(3.25)2
=3.7cm( I3ITHAT) 1
37c: A F dh SN &Il 12
=mrl
=(22/7x3.5/2x3.7)cm? 1/2
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g HT Fol IO ST = ST HT qH TN ST +

A% FT Tsh J5& &Tthel= 1/2
=(2x22/7%3.5/2%3.5/2)+(22/7%3.5/2x3.7) s
=22/7%3.512 x (3.5 3.7) == x 72
.................................................................................................. s
=39.6 cm? /

35.

gar - T IRERAT AT IRERAT

0-10 5 5

10-20 X 5+x 1

20-30 20 25+x

30-40 15 40+x

40-50 y 40+x+y

50-60 5 45+x+y
45 +x+y=60

1/2

x+y=15...()
n=60 (f&a1 8) n/2=30
ATEYS 28.5 AT =T § A AW 20 - 30 H T gl 1/2

sgfoIT, ATETS gar = 20 - 30
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I AT ,h = 10
AT gt fr e @A, 1= 20

ATETSh gdT T IRERdT, f = 20

FHIRIOT () H x = 8 {W@A W
8+y=15
y="7

37, x 3R y T AT HAA: 8 3T 7§

1/2

1/2

1/2

1/2

1/2

1/2
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OR

35.

¢ a9 |99 Reg | IRERT &ir ui—Xi_a fi ui
() (xi) e h
(fi)
100-150 125 4 -2 -8
150-200 175 5 -1 -5
200-250 225 =a 12 0 0
250-300 275 2 1 2
300-350 325 2 2 4
=25 fiui =7
1 1
3 [1] H [1]

& I § T a7 e , xi= (G 97 @1 + e gaf

AT /2

g AT ,h=

50

HATAT Shiedd HATET, a =225
arforerr & g8 red giar g

Xfi =25

..............................................................................................................

39 YHR, Aol 9T 3iad ¢ oo 22118l
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36. (i)
T $r Ifa = x rAvger
A Sic $r Ifa = 20 freAvger
YRT & TA9d Al dic @1 afd = (20-x)fRa/aer
(ii)
afa = QaHa
(iii)
URT & fAud R TAY - ORI & 3ol o9 THY = 1 ©eT
15 15 .
20 — 20+
300+ 15x -300+15x = 400- x2
x2 +30x -400 =0
OR (iii) x2 +30x -400 =0
(x+40)(x -10)=0
x=10 or x=-40
gRT T Ifd = 10 km/h
37. (i)HT=IT
AD=AF=zcm.
BD=BE=xcm.
CF=CE=ycm.
safaT
AB=z+x=12cm.
BC=x+y=8cm.
CA=z+y=10cm.
TR A W

AB+BC+CA=12+8+10
z+x)+x+y)+(z+y) =30

2(x +y+z)=30
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x+y+z=15cm.

de
(1)
xt+yt+tz)-(x+ty)=z 15-8=7cm=AD (Ans.l)
1
(ii)
x+y+z)-(y+tz)=x 15-10=5cm=BD .
1

(iii)
x+ytz)-(z+x)=y

...............................................................................................................

15-12=3 cm=CF

3y e §

gd A A5 =0D=4cm.

ST, AOAB & 819Whel = = - x dadd FaTs x 3R
:%x x =%x 4x12 =24 cm?

OR (iii AABC &T 9%l = AOAB &l &F%el + AOBC &l &F%hol

+ Area AOCA &l &Thel
Area AABC &l &F%a = [(1/2) x 3T x AB] + [(1/2) x FF=ar

xBC] +[(1/2) x 34T x CA]

AABC &T 8%l = (1/2) x 34T x(AB + BC + CA)

...................................................................................................

AABC &T 8%l = (1/2) x 4 x 30
AABC &T %l =2 x 30

AABC &7 &9%d = 60 cm?
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38.

(i)FHTTaT IROTHAT Hr TE&AT=52
ATl T T FICGRATE IIod A & gl TRUMAT T TE&AT=2
P(elTel {aT T SIE2ME) = — = —

52— 26

(if) GeTfaa aRomAt $r FEear=52
e IS T el & 3feehel TROUTAT T FE&AT = 12
PHE FIE ) = ===

52 13

(ifi) GoTiAT aROTAT dr FEar=52
It T e Glol o IHefehel TRUMAT hr H&dm =1

El
3
E
I

5

OR (i) THTTAT gROmAT FHr FEIT=52
ol B IS W diel & Helehel TROTAT T F&AT =6

P(GTET S TS ot el 1 Sdeha) = — = —

26
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